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Which of the following is a transfer payment?

a) the wages paid to government employees

b) the government’s payment to a constructor for building a bridge
c) the government’s payment to foreign countries for arms purchase
d) regular pension payments to retired government employees

" Who among the following is likely to have the highest marginal propensity to consume out of current

income?
a) arational consumer who intends to behave strictly accordmg to the permanent income hypothesis

b) arisk averse consumer facing a high degree of uncertainty

c) alow-income consumer facing borrowing constraints

d) aworking age consumer looking forward to retirement

e) awealthy person who is currently accumulating funds to leave to his heirs

The economy’s IS curve has a downward slope because

a) when output is too high, firms cut investment to reduce inventory
b) asincome rises, consumption rises and saving falls

¢) as interest rates rise, investment decreases

d) asuncertainty increases, saving rises and consumption falls

e) as government purchases rise, interest rates fall

If a government aims to raise inflation by printing money, does it help to reduce the burden of

- government debt?

a) Yes, it helps to reduce the debt/GDP ratio if the debt is denominated in home currency

b) Yes, it helps to reduce the debt/GDP ratio if the debt is denominated in a foreign currency
c) Yes, high inflation reduces the nominal value of existing debt

d) Yes, high inflation reduces the nominal interest payments on existing debt

e) Yes, high inﬂation makes issuing new debt cheaper in nominal value

Sterilized intervention in the foreign exchange market is defined as
a) Intervention that is offset by open market operations that leave the monetary base unchanged

- b) Intervention that is ineffective

c) Intervention that leaves the stock of foreign assets held by the Central Bank unchanged
d) Intervention that is to leave the exchange rate unchanged

Comparing the GDP of U.S. and China by Purchasing Power Parity exchange rates rather than

- market exchange rates

a) Exaggerate the difference between U.S. and China since U.S. has greater purchasmg power
b) Should adjust for differences in country sizes

c) Makes GDP calculations more volatile over time
d) Reduces the difference between U.S. and China because in China a given amount of dollars

purchases more goods and services.

Which of the following countries has the highest gross government debt to GDP ratio in recent years?
a) Italy

b) Brazil

c) China
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d) Japan

e) U.S.

8. Aneconomy in which GDP = 900, C = 600, T = 100, I = 100, G = 300 must have
a) exports equal to unports
b) asum of private saving and public saving to be equal to 0
c¢) afinancial account deficit of 100
d) net exports of 100

9. According to the permanent income hypothesis, which of the following should raise current
consumption the most?
a) a lottery prize of $1,000
b) an unexpected year-end bonus of $1,000
¢c) atemporary tax cut of $1,000
d) an increase of $1,000 in annual salary
¢) an inheritance of $1,000

10. In most industrial economies, the largest component of national income is
a) wages and salaries
b) corporate profits
c) interest on bank accounts and bonds
d) rental income

11. As the demand for money declines,
a) the IS curve shifts outward
b) the LM curve shifts inward
¢) the velocity of money will adjust to keep output constant
d) interest rates will fall and output will increase
e) interest rates will rise and investment will decline

12. Central banks in developed countries commonly aim to keep the price level
a) declining slightly
b) constant
¢) growing by about 1% per year
d) rising by about 2% per year
e) increasing by about 5% per year

13. The amount of monetary base is equal to
a) gold
b) gold plus foreign exchange reserves
¢) gold plus foreign exchange reserves plus government bond holdings
d) coins, currency, and demand deposits
e) currency in circulation and bank reserves

14. A reduction in the marginal propensity to save would shift
a) the IS curve downward
b) both the IS curve and the aggregate demand curve outward
c) the LM curve inward
d) both the LM curve and the aggregate demand curve inward
e) the aggregate demand curve inward
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15. According the new classical macroeconomics which assumes rational expectations, there is no need
for government macroeconomic policies to stabilize the economy. Which in the following is not a
reason consistent with the new classical macroeconomics?

a) The government cannot know surprises to aggregate demand in advance , ‘

b) If the shock to aggregate demand is anticipated, labor market will adjust to keep full employment

c) If the shock to aggregate demand is a surprise, labor market will adjust to return full employment
afterwards

d) The government knows the surprises to aggregate demand beforehand, and it spreads the
information to the public and let the labor market adjust to keep full employment
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1. An economy has a potential output of 90 and current actual output of 100. The current tax revenue is
50 and government deficit is zero. What is the structural fiscal deficit or surplus if the point elasticity
of tax revenue with respect to output is 0.5 while the point elasticity of government spending with
respect to output is -0.25? (3 points)

2. Suppose C = 6,000 + 0.75(Y — T), I =4,000, G = 2,000, and T = 0.2Y. At the equilibrium level of

output, G—T =72 (2 points) '
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1. Suppose that Robinson Crusoe produces and consumes fish (F) and coconuts (C). Assume that
during a certain period he has decided to work 200 hours and is indifferent as to ‘whether he spends this
time fishing or gathering coconuts. Robinson's production for fish is given by F = \,/E ; and for
coconuts by C = /1. ; where | and 1. are the number of hours spent fishing or gathering coconuts.
Consequently, 1¢+1. =200; Robinson Crusoe’s utility for fish and coconuts is given by: U=y/F=C ;

a. If Robinson cannot trade with the rest of the world, how will the optimal levels of F and C? (F* )|

b. Now suppose that trade is opened and Robinson can trade fish and coconuts at the price ratio of P;/ Pc
= 2/1. If Robinson continues to produce the quantities of F and C in part (a) what level of F and C (F,
C’) will he choose to produce, given the opportunity to trade? (F?, C’)  (2)

2. Consider the “Tragedy of the Commons" model- that individuals (n) acting independently and
rationally according to each's self-interest, behave contrary to the best interests of the whole group.
Consider the case of two individual firms (n = 2). Assume that unit cost is ¢ = 20 and assume the
production function (v) is v(G) = 200 - 0.5 G*. Where G is total output, g; and g are firm 1 as well as

firm 2 output, respectively; and of course, G = g; + g,. ‘ :

a. Under Nash equilibrium production (G"), identify the Nash equilibrium (gl*,_ 2. (3)

b. What is the collective social optimum (G™)?  (4)
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3. Assume a person gains utility from both money income W and leisure time L, and has the utility
function U = W"2 L2 which represents preferences about relative bundles and about risks associated
with those bundles (i.e., it is a VonNeumann-Morgenstern utility function). Suppose the person has W =
$ 400 and L = 100.

a.A lottery ticket is available that might pay zero when loss, and might pay $500 when win. Assume
the chance of winning is x, for this person to be willing to pay $5 for the ticket, how much of the
income (W) when the person win the lottery, and how much of the income for the loss? (win, loss)

(&)

b.Now forget the lottery ticket. Consider a more important gamble in life: Suppose there is a 2% chance
of the person being vocationally disabled. If the disability_does occur, income will drop to $36, and
leisure will increase to 225. What is the utility of disability person in this case?_ (6) If this
person wants to by a insurance for a “Disability Insurance policy”, how much premium would he/she be
willing to pay that would replace the lost income in case of disability? _(n__

4. The possible effects of global warming, arid of attempts to avoid it, are likely to have very different
effects on different countries in terms of both benefits and costs. The nature of international competition
and cooperation always involves significant strategizing, and this applies to global warming management
as well. The assignment in this question is to use a game theory approach to illustrate some of the issues
involved, For simplicity, assume there are 2 players (2 countries with common interests), which we will
call A and B. Suppose there are two general approaches to dealing with the global warming threat: strict
carbon emission controls, and lax carbon emission controls. Suppose the benefits and costs of controls in
the possible cases are the following:

If A is strict and B is strict:
Costs to A are 1000 and costs to B are 600; benefits to A are 1200 and benefits to B are 1800.

If A is strict and B is lax:

Costs to A are 1000 and costs to B are zero; benefits to A are 500 and benefits to B are 400.
If A is lax and B is strict:

Costs to A are zero and costs to B are 600; benefits to A are 500 and benefits to B are 400.
If A is lax and B is lax:

Costs to both are zero: benefits to both are zero.

a. Consider this static game in pure strategies: If the two countries choose strategies simultaneously and
with perfect knowledge of the other's actions, what will be the optimal outcome for A and B? _(®

b. Consider a dynamic game in pure strategies; if international politics commend that A must act first and
B will be follow, what will be the likely outcome? (9)

c. Consider the possibility of a game with the possibility of mixed strategies; in reality, the countries
might not have to commit to a given strategy, but could strategically introduce uncertainty about their
intentions. In a static game with the possibility, how would be the country A possibility distribution of]
(strict, lax)? (10)
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- stocks’ firm-specific risk.

We use hundreds of stocks to establish a portfolio. Which of the following has the highest
impact on the portfolio variance ? (A) Individual stocks’ variance (B) Covariance among
stocks (C) Individual stocks’ beta (D) Ind1v1dua1 stocks’ expected returns (E) Individual

=0 _1 2 3 (year)

$100 $100 $100. $100 ........ (perpetuity) ‘
The above cash flows start at T =0 and generate $100 every year Dlscount rate = 5% a year. PV of
these cash flows = (A) Lower than 2000. (B) Equal to 2000. (C) 2001~ 2100 (D) 2101~2200 (E)
Higher than 2200. : ,

T RBER=20% ~ BAEETELY - TEHEESHRIIRRN)=10% » EATRBEAEEEE

TERM{E=10 87T » BIREREHIE=10%, EPS BAEES) - BELTERE S BTEEAT
R BEAE 5% BREERERATESRAWACOERED ? (4)9%~9.50%
(B)9.51% ~ 9.99%(C)10.00%~10.49% (D)10.50%~11.00% (B) A 11.0%

{Eia’iﬁ:‘f@—ﬁfﬁ? > RAF(RAFSS0,FESMEREL 100 ERL, S4F EPS=$4) B TR K51
TEMUEERTTE X(E RR=10% ~ BHREEKEFESHSHA), BRI RBHRE 8%,1E
RATZ DRI 7 (AER 19 H(B)19.01 #~19.25 F(C)19.26 E~19.50 E(D)19.51~#%
19.99 BE)ARNBER 20 &.

Y

E L BITZHRERERREZ DI ? AENERER 3.5 (B)3.51~4.00
(C)4.01~4.50 (D)4.51~5.00 (YA EER 5.01 : :

When we analyze risk and return characteristics of buying a put option, a similar investment position |
[as a comparison] should be : (A) Buying call option (B) Selling call option (C) Buying underlying
asset (D) Selling underlying asset (E) Buying futures. ~

When an option has intrinsic value, it is said to be: (A) In the money. (B) Out-of-the money. (C) At-
the-money. (D) Time dependent. (E) Risk neutral.

Empirically, stock return R = a + B1xRm + B2xSize + B3xBM ratio, where Rm is market portfolio
return. B2: (A) > 0. (B) <0. (C) = 0. (D) Lager than 1. (E) Larger than B3.
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9. ItisJan. 1 now. You have 1,000 shares of stock ABC. Stock price= $50 per share. Put option prices
(P) on ABC are as follows: K (exercise price) T (maturity)=Jan. 31 T=March 31 T= June 30

$ 30 $7. $5:(C) $6:
35 $6:(A) $5: (D) $7:
40 $5: (B) $5: (E) $8:

You want to do a 30-day protective put strategy. Which option should you buy ? Select one of
(A),(B),(C),(D), and (E).

10. Which of the following is/are correct ? I. It’s possible for a project to have 2 or more Modified IRRs.
IL. A project may have 2 or more IRRs. III. MIRR method cannot differentiate lending from
borrowing. IV. When IRR rule contradicts NPV rule, we select the recommendation provided by
NPV rule. (A)IV (B)II (C)III (D)ILIII (E) None of the above.
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Current Ratio 1.96 1.52
Return on Assets B 3.46% 2.5%
Inventory Turnover 5.03 3.21
Receivables Turnover 7.99 4,25
PEratio 14.2 20
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#1. An investor constructs a portfolio consisting of 5 firms as following table.

. Firm size
Firm (million dollars) Expected return
A 100 8%
B 150 6%
C 300 5%
D 250 12%
E 200 9%

a. What is the equal-weighted mean of expected return of the portfolio? (60)
b. What is the weighted mean (according to firm size) of expected return of the portfolio? 2)

#2. To analyze how many hours students spend in reading per week, David surveyed 500 students
between the ages of 15 and 18. The survey results are reported in the following table.

Hours of reading per week | Number of survey responses

Less than 1 16

1~5 46

6~10 ' 132

11~15 153

16~20 83

21~25 42

26~30 20
31 or more . 8

For a randomly selected student, compute the following.

a. The probability the student spends reading for less than 1 hour per week.___(3)
b. The probability the student spends reading for at least 21 hours per week.___ (4)
c. The probability the student spends reading for 10 or fewer hours per week.__ (5)
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#3. For some insurance company, the payment and the probability distribution for damage claims on
collision insurance are shown as what follows.

Payment ($) Probability
0 0.80
300 0.08
500 0.06
1200 0.05
3000 0.01

a. Use the expected collision payment to determine the collision insurance premium that ensure the
company to make neither a profit nor a loss (i.e., break even).___(6)
b. Compute the variance of the payment.___ (7)

#4. In a survey of a bank, one out of three investors have REIT (real estate investment trust) in their
portfolios. Consider a sample of 10 investors.
a. Compute the probability that exactly 2 investors have REIT in their portfolios.
£:3)
b. Compute the probability that at least 2 of the investors have REIT in their portfolios.
(9N
c. If you found that exactly 9 of the investors have REIT in their portfolios, would you doubt the
accuracy of the survey results? (yes or no?) 10)
d. Compute the expected number of investors who have REIT in their portfolios.

11

#5. In landscaping of the Kasey’s Nursery for residential areas, the estimated labor cost depends on the
number of plantings of trees, shrubs, and so on. For cost-estimating purposes of some project, managers
spend 3 hours of labor time on the planting of a medium-sized tree. There are actual times of 10 plantings
during the past month (times in hours), as in follows.

3.2; 3.5; 3.1; 3.3; 3.1; 3.1; 2.9; 3.0; 2.8; 3.4
At the 5% significance level, please examine whether the mean tree-planting time (assume u) differs
from 3 hours.
a. State the null and alternative hypotheses.___ (12)
b. Compute the sample standard deviation., (13)
¢. Would you reject the null hypothesis at 5% significance level? (yes or no?) (4

#6. For the following five observations for two variables, x and y, the estimated regression equation for
these data is y =30—5x.

a. Compute the sum of squares due to error (SSE).___ (15)

b. Compute the coefficient of determination r* (R squared). __ (16)
c. Compute the sample correlation coefficient.___ (17)
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#7. The manager of Adam Corporation wants to realize the relationship between the age of a car (x) and
the annual maintenance cost (y). Herein, there are samples as follows.

Age of car (years): x Maintance cost (3): y
200
300
600
500
400

800
700
900
1200
1000

mla|u|a|wiolo|wl=]—

a. Develop the least squares estimated regression equation.___(18)
b. Test whether the slope is statistically significantly different from 0 at the 5% significance level (yes or

no).__ (19)

¢. Develop a 95% prediction interval for the maintenance cost for a specific car that is 3 years old.___(20)
p p P y

[BUTEE M BRI R

[HINTS]
V10 ~3.162:4/0.424 ~0.651;/0.8 ~ 0.894

8 ~2.828;4/202000 ~ 449.444;/20 ~ 4.472
V1.1 ~1.049;4/0.9 ~ 0.949;4/1.8 ~1.342
V202 #14.213;4/660 ~25.690;+/30 ~ 5.477
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t distribution

Arca or
probability

L

Degrees
of Freedom

o e by —

0

20

1.376
1.061
978
941

920
906
896

889
583

879
876
873
870
R

10

1078
1.886
1.638
1.533

1476
1.440
1415

1.383
A2
363
356

250
45

Aren in Upper Tall

08

6314
2.920
2.353
2,132

2.018
1.943
1.895
1.860
1.833

1.812
1.796
1.782
1.771
1.761

Entrica in tho table give ¢ values for an area
or probability in the upper tail of the ¢
distribution. For exmuple, with 10 degrees
of freedom and # .05 arca in the upper til,

o = 1812,

025

12.7206
4.303
3182
2776

2.571
2447
2,365
2.306
2262

2228
220
179
160

145

e 31D

Eil}

31.821
6.965
4.541
3747

3.365
3.143
2.998
2.896
2821

2.764
2.718
2.081
2.650
2,624

D08

63.656
9.925
5.8410
4.604

4032
3,707
3499
3.355
1250

ERICH
2106
3.085
1012
290




